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I8 P SO, NOx (6{0) O, DUST MASS H20 HCL | OPAC|TEMP| VEL
Cn R R PR e | e | e P07 e e
2
ppm ppm ppm % | mg/m3| Nm3/hr % ppm % C m/s
01 9.26 74.85 754 | 1033 | 2.83 79006.84 19.46 10.79 1.18 | 155.92 |12.78
02 9.60 71.65 1350 | 1024 | 2.83 79112.14 19.67 11.28 1.18 | 156.09 |12.73
03 9.21 68.52 1131 | 9.97 2.78 80348.24 20.18 11.96 1.16 | 156.15 | 12.70
04 8.18 76.07 1116 | 1020 | 2.74 79044.24 19.77 9.23 1.14 | 155.83 | 12.70
05 =% (R = | #H | (FH R R =1 =t | EH | EH
06 =% (R = | #H | (FH =% =% =% =1 | EH | E5
07 =% (R = | #H | FH R =% =1 =t | EH | EH
08 =% (R = | B | FH =% =% =% =t | EH | EH
09 =% (R = | #H | FH =% =% =1 =t | EH | EH
10 =% (R = | B | FH =% =% =% =t | EH | EH
11 =% (R = | #H | (FH =% =% =1 =t | EH | EH
12 =% (R = | B | FH =% =% =% =t | EH | EH
13 =% (R = | #H | (FH =% =% =1 =t | EH | EH5
14 (R =% f=H | =5 | FH =% =% =% =t | E=H | E=5
15 =% =% = | =1 | FH =% =% =% =t | E=H | E=5
16 =% =% f=H | =5 | FH =% =% =% =t | E=H | E=5
17 =% = f=H | =5 | FH =% =% =% =t | E=H | E5
18 =% = f=H | =5 | FH =% =% =% =t | E=H | E5
19 =% = f=H | =5 | FH =% =% =% =t | E=H | E5
20 =% = f=H | =5 | FH =% =% =% =t | E=H | E=5
21 =% =% f=H | =5 | FH =% =% =% =t | E=H | E=5
22 =% =% f=H | =5 | FH =% =% =% =t | E=H | E=5
23 =% = f=H | =5 | FH =% =% =% =t | E=H | E=5
24 =% =% = | =5 | FH =% =% =% =t | E=H | E=5
25 =% = f=h | =1 | (FH =% =% =% =t | E=H | E=5
26 =% = f=H | =5 | (FH =% =% = =t | E=H | F=5
27 =% = f=H | =5 | FH =% =% = =t | E=H | F=5
28 =% = f=H | =5 | (FH =% =% = =t | E=H | =5
29 34.59 64.88 15.76 | 7.69 2.47 98098.27 21.68 8.66 1.02 | 158.86 |13.22
30 12.11 95.32 2513 | 1072 | 2.46 80953.44 18.40 11.05 1.02 | 157.78 | 13.47
BRI S 6 6 6 6 6 6 6 6 6 6 6
e 13.83 75.22 14.07 | 9.86 2.69 82760.53 19.86 10.50 1.12 | 156.77 | 12.93
R4 34.59 95.32 2513 | 1072 | 283 98098.27 21.68 11.96 1.18 | 158.86 | 13.47
B4 P
o) 8.18 64.88 7.54 7.69 2.46 79006.84 18.40 8.66 1.02 | 155.83 |12.70
#F 4P
e 0 0 0 0 0 0 0 0 0 0 0
B 150 220 150 60 20 | e | -
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I8 P SO, NOx (6{0) O, DUST MASS H20 HCL | OPAC|TEMP| VEL
Cn R R PR e | e | e P07 mn e
2
ppm ppm ppm % | mg/m3| Nm3/hr % ppm % m/s
01 ez (R = | FH | EE =% =% =% =t | EH | EH
02 (e (R = | FH | EiE =% =% =% =1 | EH | EH
03 =% (R = | B | FH =% =% =% =t | EH | EH
04 =% (R = | #H | (FH =% =% =1 =t | EH | EH
05 fEH% (R = | B | FH =% =% =% =t | EH | EH
06 =% (R = | #H | (FH =% =% =1 =t | EH | EH
07 =% (R = | #H | (FH R R =1 =t | EH | EH
08 =% (R = | #H | (FH =% =% =% =1 | EH | E5
09 =% (R = | #H | FH R =% =1 =t | EH | EH
10 =% (R = | B | FH =% =% =% =t | EH | EH
11 =% (R = | #H | FH =% =% =1 =t | EH | EH
12 =% (R = | B | FH =% =% =% =t | EH | EH
13 =% (R = | =5 | (FH =% =% =1 =t | EH | EH
14 =% (R = | #H | (FH =% =% =1 =t | EH | EH
15 =% = = | =5 | FH =% =% =% =t | E=H | E=5
16 (R =% f=H | =5 | FH =% =% =% =t | E=H | E=5
17 =% =% = | =1 | FH =% =% =% =t | E=H | E=5
18 =% =% = | =1 | FH =% =% =% =t | E=H | E=5
19 =% = f=H | =5 | FH =% =% =% =t | E=H | E5
20 =% = f=H | =5 | FH =% =% =% =t | E=H | E=5
21 =% = f=H | =5 | FH =% =% =% =t | E=H | E5
22 =% = f=H | =5 | FH =% =% =% =t | E=H | E=5
23 =% =% f=H | =5 | FH =% =% =% =t | E=H | E=5
24 =% =% f=H | =5 | FH =% =% =% =t | E=H | E=5
25 =% = = | =5 | FH =% =% =% =t | E=H | E=5
26 =% = f=h | =1 | (FH = = = =t | E=H | E=5
27 =% = f=h | =1 | (FH =% =% =% =t | E=H | E=5
28 =% = f=H | =5 | (FH =% =% =% =t | E=H | =5
29 =% = f=H | =5 | FH =% =% = =t | E=H | F=5
30 =% = f=H | =5 | (FH =% =% = =t | E=H | =5
BRI S 0 0 0 0 0 0 0 0 0 0
T3at | #DIV/O! | #DIV/O! | #DIV/O! [#DIV/O!| #DIV/O! | #DIV/O! | #DIV/0! | #DIV/O! | #DIV/O! | #DIV/O! |######
R4 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 | 0.00
#F 4P
o) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 | 0.00
B4 P
e 0 0 0 0 0 0 0 0 0 0
I 150 220 150 60 20 | e | -
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